urban <76.2807
gini=0.75
samples = 214

value = [54, 53, 53, 54]
class = q1
water<931 ) 'Ue False” urban < 88.3889
gini = 0.4632 gini = 0.6891
samples = 68 samples = 146
value = [47, 16, 4, 1] value = [7, 37, 49, 53]
class = q1 class = g4
life <55.6 water < 99.85
gini = 0.5652 gini=0.6718
samples = 27 samples = 100
value = [12, 13, 2, 0] value = [7, 36, 41, 16]
class = q2 class = q3

water < 85.4
gini = 0.6939
samples =7
value = [3, 2, 1, 1]
class = g1
4
water <71.7 labor < 1.4014
gini = 0.4444 gini=0.375
samples = 3 samples =4
value = [0, 2, 0, 1] value = [3, 0, 1, 0]
class = q2 class = g1

life <25.8 survive £72.7065 urban <91.4054
gini = 0.485 gini=0.6775 gini = 0.5547
samples = 20 samples = 87 samples = 16
value = [6, 13, 1, 0] value = [7, 36, 30, 14] value = [0, 1, 7, 8]
class = q2 class = g2 class =q4
4
healthexp <0.1653 survive < 69.8615 healthexp < 2.6534 water < 97 3 healthexp <-0.3276
gini = 0.4321 gini = 0.6518 gini = 0.585 gini = 0.54 gini = 0.4444
samples = 19 samples = 67 samples = 20 samples =10 samples =3
value = [6, 13, 0, 0] value = [7, 33, 19, 8] value = [0, 3, 11, 6] value = [0, 1, 6, 3] value = [0, 0, 1, 2]
class = q2 class = q2 class = q3 class = q3 class = q4
healthexp <2.993 healthexp <-1.9994 / life <21.4 labor < 1.5948 labor < 2.7247 life <47.95
gini =0.4012 gini = 0.7147 gini = 0.44 gini=0.48 gini = 0.4444 gini=0.5
samples = 18 samples = 38 samples = 29 samples =5 samples = 3 samples = 2
value =[5, 13, 0, 0] value = [6, 12, 14, 6] value =[1, 21, 5, 2] value = [0, 2, 0, 3] value = [0, 1, 0, 2] value = [0, 0, 1, 1]
class = q2 class = q3 class = q2 class = g4 class = g4 class = q3

water < 94 25 urban < 82.8503 survive <70.5585 water < 97.85
gini = gini = 0.6857 gini = 0.4031 gini = 0.625
samples = samples = 35 samples = 28 samples =4
value = [4, 4, 0 0] value = [6, 12, 14, 3] value =[1, 21, 5, 1] value = [0, 1,1, 2]
class = g1 class = q3 class = q2 class = g4
labor <4.0855 urban <71.1662 labor < 0.611 healthexp < 2.6953 labor <2.2733 \
gini=0.5 gini = 0.32 gini=0.7 gini = 0.51 gini=0.5
samples =2 samples =5 samples = 30 samples = 20 samples =2
value =[1, 1, 0, 0] value =[1, 4, 0, 0] value =[6, 12, 9, 3] value =[1, 13, 5, 1] value = [0, 1, 1, 0]
class = g1 class = g2 class = q2 class = q2 class = q2
labor <4.2015 urban <81.9859
gini = 0.6811 gini = 0.4444
samples = 28 samples = 18
value = [4,12, 9, 3] value =[1, 13, 3, 1]
class = q2 class = q2
class = g2
life <55.1
gini=0.5124
samples = 11
value = [2, 8, 9, 3] value = [0, 7, 3, 1]
class = q3 class = g2
survive £68.2106 survive <71.917 water < 98.75
gini = 0.687 gini = 0.3457 gini=0.5
samples =19 samples =9 samples = 2
value = [2, 8, 6, 3] value = [0, 7, 2, 0] value = [0, 0, 1, 1]
class = g2 class = q2 class = q3
survive <66.619 water < 93.8046 eaIthexp < -0 1778
gini = 0.5455 gini = 0.5625 gini =
samples = 11 samples = 8 samples 4
value =[1,7,1, 2] value =[1, 1, 5, 1] value = [0, 2, 2, 0]

survive < 68.3536
gini = 0.6479
samples = 26

value = [2, 12, 9, 3]
class = q2

water <98.05
gini = 0.3806
samples = 17

life <34.75
gini = 0.6736
samples = 22

class = q2 class = q3 class = q2

labor <1.8212
gini = 07222
samples =
value =[1, 2, 1 2]
class = q2
life <44.65
gini = 064
samples =
value = [1, 2, O 2]
class = q2

survive £64.012 water <95.85 healthexp < 2.3693
gini = 0.4444 gini=0.5 gini=0.5
samples =3 samples = 2 samples = 2

value = [0, 2, 0, 1] value =[1, 0, 0, 1] value = [0, 0, 1, 1]

class = q2 class = q1 class = q3
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